Nonlinear Functional Analysis and Applications Vol. 11, No. 5 (2006), pp. 823-832

http://nfaa.kyungnam.ac.kr/jour-nfaa.htm Copyright \bigodot 2006 Kyungnam University Press

ON THE STABILITY OF A MIXED (n, n-1)- DIMENSIONAL QUADRATIC FUNCTIONAL EQUATION

Dong Seung Kang

Department of Mathematics, Education, Dankook University San 8, Hannam, Yongsan, Seoul, 140-714, Korea e-mail: dskang@dankook.ac.kr

Dedicated to the memory of Professor Donald H. Hyers

Abstract. Let $n \ge 3$ be an integer. In this paper, we investigate the generalized Hyers-Ulam-Rassias stability of a mixed (n, n - 1)-dimensional quadratic functional equation,

$$(n-2)f(\sum_{j=1}^{n} x_j) + \sum_{i=1}^{n} f(x_i) = \sum_{1 \le i_1 < \dots < i_{n-1} \le n} f(x_{i_1} + \dots + x_{i_{n-1}}).$$

The mixed stability problem was posed in the paper; see [11].

1. INTRODUCTION

In 1940, the problem of stability of functional equations was originated by Ulam [16] as follows: Under what condition does there exist an additive mapping near an approximately additive mapping ?

The first partial solution to Ulam's question was provided by D. H. Hyers [5]. Let X and Y are Banach spaces with norms $\|\cdot\|$ and $\|\cdot\|$, respectively. Hyers showed that if a function $f: X \to Y$ satisfies the following inequality

$$\parallel f(x+y) - f(x) - f(y) \parallel \le \epsilon$$

for all $\epsilon \geq 0$ and for all $x, y \in X$, then the limit

$$a(x) = \lim_{n \to \infty} 2^{-n} f(2^n x)$$

⁰Received February 20, 2006. Revised August 28, 2006.

⁰2000 Mathematics Subject Classification: 39B52.

⁰Keywords: Hyers-Ulam-Rassias stability, quadratic mapping, stability.

exists for each $x \in X$ and $a: X \to Y$ is the unique additive function such that

$$\parallel f(x) - a(x) \parallel \le \epsilon$$

for any $x \in X$. Moreover, if f(tx) is continuous in t for each fixed $x \in X$, then a is linear.

Hyers's theorem was generalized in various directions. In particular, Th. M. Rassias [7] considered a generalized version of the theorem of Hyers which permitted the Cauchy difference to become unbounded. He proved the following theorem by using a direct method: if a function $f: X \to Y$ satisfies the following inequality

$$\| f(x+y) - f(x) - f(y) \| \le \theta(\| x \|^p + \| x \|^p)$$

for some $\theta \geq 0\,,\, 0 \leq p < 1\,,$ and for all $x,y \in X\,,$ then there exists a unique additive function such that

$$|| f(x) - a(x) || \le \frac{2\theta}{2 - 2^p} || x ||^p$$

for all $x \in X$. Moreover, if f(tx) is continuous in t for each fixed $x \in X$, then a is linear. Th.M. Rassias result provided a remarkable generalization of Hyers Theorem, a fact which rekindled interest in the study of stability of functional equations. Taking this fact into consideration the Hyers-Ulam stability is called Hyers-Ulam-Rassias stability.During the last two decades several results for the Hyers-Ulam-Rassias stability of functional equations have been proved by several mathematicians worlwide. Găvruta [4] provided a generalization of the Theorem of Th.M.Rassias.

The quadratic function $f(x) = cx^2$ ($c \in \mathbb{R}$) satisfies the functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y).$$
(1)

Hence this question is called the quadratic functional equation, and every solution of the quadratic equation (1) is called a quadratic function.

A Hyers-Ulam stability theorem for the quadratic functional equation (1) was proved by Skof for functions $f: X \to Y$, where X is a normed space and Y is a Banach space. Cholewa [2] noticed that the theorem of Skof is still true if the relevant domain X is replaced by an abelian group. In [3], Czerwik proved the Hyers-Ulam-Rassias stability of the quadratic functional equation. Several functional equations have been investigated; see [8], [9], and [10].

In this paper, we will investigate the generalized Hyers-Ulam-Rassias stability of a mixed (n, n-1)-dimensional quadratic functional equation as follows:

$$(n-2)f(\sum_{j=1}^{n} x_j) + \sum_{i=1}^{n} f(x_i) = \sum_{1 \le i_1 < \dots < i_{n-1} \le n} f(x_{i_1} + \dots + x_{i_{n-1}}), \quad (2)$$

where $n \geq 3$ is a integer.

Before proceeding the proof, we may remarks as follows: First of all, the equation (2) can be viewed as the generalization of [[6] Equation (1.2)]. Secondly, there is a mixed (n, 2)-dimensional quadratic functional equation: see [1].

2. A MIXED (n, n-1)-dimensional quadratic mapping

Lemma 2.1. Let $n \ge 3$ be an integer, and let X, Y be vector spaces. The even mapping $f : X \to Y$ defined by

$$(n-2)f(\sum_{j=1}^{n} x_j) + \sum_{i=1}^{n} f(x_i) = \sum_{1 \le i_1 < \dots < i_{n-1} \le n} f(x_{i_1} + \dots + x_{i_{n-1}}), \quad (3)$$

for all $x_1, \dots, x_n \in X$. Then f is quadratic.

Proof. By letting $x_1 = \cdots = x_n = 0$ in (3), we have (n-2)f(0) = 0. Since $n \ge 3$, f(0) = 0. Also, letting $x_1 = x$, $x_2 = y$, $x_3 = -y$, and $x_k = 0$ ($4 \le k \le n$) in(3), we get

$$(n-2)f(x) + f(x) + 2f(y) = f(x+y) + f(x-y) + (n-3)f(x).$$

Hence we may conclude that

$$f(x+y) + f(x-y) = 2f(x) + 2f(y)$$

Thus f is quadratic.

3. Stability of a mixed (n, n-1)-dimensional quadratic mapping

Throughout in this section, let X be a normed vector space with norm $\|\cdot\|$ and Y be a Banach space with norm $\|\cdot\|$. Let $n \ge 2$ be even.

For the given mapping $f: X \to Y$, we define

$$Df(x_1, \cdots, x_n) := (n-2)f(\sum_{j=1}^n x_j) + \sum_{i=1}^n f(x_i) - \sum_{1 \le i_1 < \cdots < i_{n-1} \le n} f(x_{i_1} + \cdots + x_{i_{n-1}}),$$

for all $x_1, \cdots, x_n \in X$.

We will consider two cases where n is odd and $n \ge 4$ is any integer.

Theorem 3.1. Let $n \ge 3$ be odd and let $f : X \to Y$ be an even mapping satisfying f(0) = 0 for which there exists a function $\phi : X^n \to [0, \infty)$ such that

$$\tilde{\phi}(x_1, \cdots, x_n) := \sum_{j=0}^{\infty} 4^{-j} \phi(2^j x_1, \cdots, 2^j x_n) < \infty, \qquad (4)$$

Dong Seung Kang

$$\| Df(x_1, \cdots, x_n) \| \le \phi(x_1, \cdots, x_n), \qquad (5)$$

for all $x_1, \cdots, x_n \in X$. Then there exists a unique n-dimensional quadratic mapping $Q: X \to Y$ such that

$$\| f(x) - Q(x) \| \le \frac{1}{2(n-1)} \tilde{\phi}(x, -x, x, -x, \cdots, -x, x),$$
 (6)

for all $x \in X$.

Proof. For each $k = 1, \dots, n$, $x_k = (-1)^{k-1}x$ in (5), we have

$$\| 2(n-1)f(x) - \frac{n-1}{2}f(2x) \| \le \phi(x, -x, x, -x, \cdots, -x, x),$$

for all $x \in X$. Then we write

$$\| f(x) - \frac{1}{4}f(2x) \| \le \frac{1}{2(n-1)}\phi(x, -x, x, -x, \cdots, -x, x),$$
(7)

for all $x \in X$.

For a given positive integer r, assume

$$\| f(x) - (\frac{1}{4})^r f(2^r x) \|$$

$$\leq \frac{1}{2(n-1)} \sum_{k=0}^{r-1} (\frac{1}{4})^k \phi(2^k x, -2^k x, \cdots, -2^k x, 2^k x) ,$$

for all $x \in X$. Then if x is replaced by 2x in above equation, we have

$$\| f(2x) - (\frac{1}{4})^r f(2^{r+1}x) \|$$

$$\leq \frac{1}{2(n-1)} \sum_{k=1}^r (\frac{1}{4})^k \phi(2^k x, -2^k x, \cdots, -2^k x, 2^k x),$$

for all $x \in X$. Now, combine (7) and the previous equation, we may conclude that

$$\| f(x) - (\frac{1}{4})^t f(2^t x) \|$$

$$\leq \frac{1}{2(n-1)} \sum_{k=0}^{t-1} (\frac{1}{4})^k \phi(2^k x, -2^k x, \cdots, -2^k x, 2^k x),$$

for all $x \in X$ and all positive integer t. Also, letting $x = 2^r x$ in (7), we get

$$\| f(2^{r}x) - \frac{1}{4}f(2^{r+1}x) \| \le \frac{1}{2(n-1)}\phi(2^{r}x, -2^{r}x, \cdots, -2^{r}x, 2^{r}x),$$

or, by multiplying $(\frac{1}{4})^r$,

$$\| \left(\frac{1}{4}\right)^r f(2^r x) - \left(\frac{1}{4}\right)^{r+1} f(2^{r+1} x) \|$$

$$\leq \frac{1}{2(n-1)} \left(\frac{1}{4}\right)^r \phi(2^r x, -2^r x, \cdots, -2^r x, 2^r x) ,$$

for all $x \in X$ and all positive integer r. This implies that for all integers r > t > 0,

$$(*) \qquad \| \left(\frac{1}{4}\right)^r f(2^r x) - \left(\frac{1}{4}\right)^t f(2^t x) \| \\ \leq \frac{1}{2(n-1)} \sum_{k=t}^{r-1} \left(\frac{1}{4}\right)^k \phi(2^k x, -2^k x, \cdots, -2^k x, 2^k x),$$

for all $x \in X$. Hence the sequence $\{(\frac{1}{2})^{2s}f(2^sx)\}$ is a Cauchy sequence in a Banach space Y. Hence we may define a mapping $Q: X \to Y$ by

$$Q(x) = \lim_{r \to \infty} 2^{-2r} f(2^r x) \,,$$

for all $x \in X$. By the definition of $DQ(x_1, \dots, x_n)$ and (5),

$$\| DQ(x_1, \cdots, x_n) \| = \lim_{r \to \infty} (\frac{1}{2})^{2r} \| Df(2^r x_1, \cdots, 2^r x_n) \|$$

$$\leq \lim_{r \to \infty} (\frac{1}{2})^{2r} \phi(2^r x_1, \cdots, 2^r x_n) = 0,$$

for all $x_1, \dots, x_n \in X$. That is, $DQ(x_1, \dots, x_n) = 0$. By Lemma 2.1, the mapping $Q: X \to Y$ is quadratic. Also, letting t = 0 and passing the limit $r \to \infty$ in (*), we get the equation (6).

Note that

$$Q(2^{j}x) = \lim_{r \to \infty} 2^{-2r} f(2^{r}(2^{j}x))$$

= $2^{2j} \lim_{r \to \infty} 2^{-2(r+j)} f(2^{r+j}x)$
= $2^{2j} Q(x)$.

Now, let $Q': X \to Y$ be another *n*-dimensional quadratic mapping satisfying (6). Then by previous note, we have

$$\| Q(x) - Q'(x) \| = 2^{-2r} \| Q(2^r x) - Q'(2^r x) \|$$

$$\leq \frac{2^{-2r}}{m-1} \phi(2^r x, \cdots, 2^r x),$$

for all $x \in X$. As $r \to \infty$, we may conclude that Q(x) = Q'(x), for all $x \in X$. Thus such a *n*-dimensional quadratic mapping $Q: X \to Y$ is unique.

Dong Seung Kang

Theorem 3.2. Let $n \ge 3$ be odd and let $f : X \to Y$ be an even mapping satisfying f(0) = 0 for which there exists a function $\phi : X^n \to [0, \infty)$ such that

$$\tilde{\phi}(x_1, \cdots, x_n) := \sum_{j=0}^{\infty} 4^j \phi(2^{-j} x_1, \cdots, 2^{-j} x_n) < \infty, \qquad (8)$$

$$\| Df(x_1, \cdots, x_n) \| \le \phi(x_1, \cdots, x_n), \qquad (9)$$

for all $x_1, \dots, x_n \in X$. Then there exists a unique n-dimensional quadratic mapping $Q: X \to Y$ such that

$$\| f(x) - Q(x) \| \le \frac{1}{2(n-1)} \tilde{\phi}(x, -x, x, -x, \cdots, -x, x),$$
 (10)

for all $x \in X$.

Proof. If x is replaced by $\frac{1}{2}x$ (not 2x), then it follows from the proof of Theorem 3.1.

Corollary 3.3. Let $p \neq 2$ and θ be positive real numbers, let $n \geq 3$ be odd, and let $f: X \to Y$ be an even mapping satisfying f(0) = 0 and

$$|| Df(x_1, \cdots, x_n) || \le \theta \sum_{i=1}^n ||x_i||^p$$
,

for all $x_1, \dots, x_n \in X$. Then there exists a unique n-dimensional quadratic mapping $Q: X \to Y$ such that

$$|| f(x) - Q(x) || \le \frac{2n}{n-1} \cdot \frac{\theta}{|4-2^p|} ||x||^p$$

for all $x \in X$.

Proof. Let

$$\phi(x_1,\cdots,x_n)=\theta\sum_{i=1}^n||x_i||^p$$

and then apply to Theroem 3.1 when $p<2\,,$ or apply to Theroem 3.2 when $p>2\,.$

Now, we may assume $n \ge 4$ is an integer.

Theorem 3.4. Let $n \ge 4$, and let $f : X \to Y$ be an even mapping satisfying f(0) = 0 for which there exists a function $\phi : X^n \to [0, \infty)$ such that

$$\tilde{\phi}(x_1, \cdots, x_n) := \sum_{j=0}^{\infty} 4^{-j} \phi(2^j x_1, \cdots, 2^j x_n) < \infty, \qquad (11)$$

$$\| Df(x_1, \cdots, x_n) \| \le \phi(x_1, \cdots, x_n), \qquad (12)$$

for all $x_1, \cdots, x_n \in X$. Then there exists a unique n-dimensional quadratic mapping $Q: X \to Y$ such that

$$\| f(x) - Q(x) \| \le \frac{1}{4(m-1)} \tilde{\phi}(\underbrace{2x, -x, x, \cdots, x, -x}_{2m-terms}, 0, \cdots, 0), \quad (13)$$

for all $x \in X$, where $4 \le 2m \le n$.

Proof. By letting $x_1 = 2x$, $x_k = (-1)^{k+1}x$, $(k = 2, \dots, 2m)$, and $x_k = 0$, $(2m+1 \le k \le n)$ in (12), we have

$$\| (n-2)f(x) + f(2x) + (2m-1)f(x) - (mf(2x) + f(x) + (n-2m)f(x) \|$$

$$\leq \phi(\underbrace{2x, -x, x, \cdots, x, -x}_{2m-terms}, 0, \cdots, 0),$$

for all $x \in X$. Then we have

$$\| f(x) - \frac{1}{4}f(2x) \| \le \frac{1}{4(m-1)}\phi(\underbrace{2x, -x, x, \cdots, x, -x}_{2m-terms}, 0, \cdots, 0), \qquad (14)$$

for all $x \in X$.

For a given positive integer r, assume

$$\| f(x) - (\frac{1}{4})^r f(2^r x) \|$$

 $\leq \frac{1}{4(m-1)} \sum_{k=0}^{r-1} (\frac{1}{4})^k \phi(\underbrace{2^{k+1}x, -2^k x, 2^k x, \cdots, 2^k x, -2^k x}_{2m-terms}, 0, \cdots, 0),$

for all $x \in X$. Then if x is replaced by 2x in above equation, we have

$$\| f(2x) - (\frac{1}{4})^r f(2^{r+1}x) \|$$

$$\leq \frac{1}{4(m-1)} \sum_{k=1}^r (\frac{1}{4})^{k-1} \phi(\underbrace{2^{k+1}x, -2^k x, 2^k x, \cdots, 2^k x, -2^k x}_{2m-terms}, 0, \cdots, 0),$$

for all $x \in X$. Now, combine (14) and the previous equation, we may conclude that

$$\| f(x) - (\frac{1}{4})^t f(2^t x) \|$$

$$\leq \frac{1}{4(m-1)} \sum_{k=0}^{t-1} (\frac{1}{4})^k \phi(\underbrace{2^{k+1}x, -2^k x, 2^k x, \cdots, 2^k x, -2^k x}_{2m-terms}, 0, \cdots, 0),$$

for all $x \in X$ and all positive integer t. Also, letting $x = 2^r x$ in (14), we get

$$\| f(2^{r}x) - \frac{1}{4}f(2^{r+1}x) \|$$

$$\leq \frac{1}{4(m-1)}\phi(\underbrace{2^{r+1}x, -2^{r}x, 2^{r}x, \cdots, 2^{r}x, -2^{r}x}_{2m-terms}, 0, \cdots, 0),$$

or, by multiplying $(\frac{1}{4})^r$

$$\| \left(\frac{1}{4}\right)^{r+1} f(2^{r+1}x) - \left(\frac{1}{4}\right)^r f(2^r x) \|$$

$$\leq \left(\frac{1}{4}\right)^r \frac{1}{4(m-1)} \phi(\underbrace{2^{r+1}x, -2^r x, 2^r x, \cdots, 2^r x, -2^r x}_{2m-terms}, 0, \cdots, 0),$$

for all $x \in X$ and all positive integer $r\,.$ This implies that for all integers $r > t > 0\,,$

$$\begin{aligned} (*) \qquad & \parallel (\frac{1}{4})^r f(2^r x) - (\frac{1}{4})^t f(2^t x) \parallel \\ & \leq \quad \frac{1}{4(m-1)} \sum_{k=t}^{r-1} (\frac{1}{4})^k \phi(\underbrace{2^{k+1} x, -2^k x, 2^k x, \cdots, 2^k x, -2^k x}_{2m-terms}, 0, \cdots, 0) \,, \end{aligned}$$

for all $x \in X$. Hence the sequence $\{(\frac{1}{2})^{2s}f(2^sx)\}$ is a Cauchy sequence in a Banach space Y. Hence we may define a mapping $Q: X \to Y$ by

$$Q(x) = \lim_{r \to \infty} 2^{-2r} f(2^r x) \,,$$

for all $x \in X$. By the definition of $DQ(x_1, \dots, x_n)$ and (12),

$$\| DQ(x_1, \cdots, x_n) \| = \lim_{r \to \infty} (\frac{1}{2})^{2r} \| Df(2^r x_1, \cdots, 2^r x_n) \|$$

$$\leq \lim_{r \to \infty} (\frac{1}{2})^{2r} \phi(2^r x_1, \cdots, 2^r x_n) = 0,$$

for all $x_1, \dots, x_n \in X$. That is, $DQ(x_1, \dots, x_n) = 0$. By Lemma 2.1, the mapping $Q: X \to Y$ is quadratic. Also, letting t = 0 and passing the limit $r \to \infty$ in (*), we get the equation (13).

Note that

$$Q(2^{j}x) = \lim_{r \to \infty} 2^{-2r} f(2^{r}(2^{j}x))$$

= $2^{2j} \lim_{r \to \infty} 2^{-2(r+j)} f(2^{r+j}x)$
= $2^{2j} Q(x)$.

Now, let $Q': X \to Y$ be another *n*-dimensional quadratic mapping satisfying (13). Then by previous note, we have

$$\| Q(x) - Q'(x) \| = 2^{-2r} \| Q(2^r x) - Q'(2^r x) \|$$

$$\leq \frac{2 \cdot 2^{-2r}}{4(m-1)} \phi(2^r x, \cdots, 2^r x) ,$$

for all $x \in X$. As $r \to \infty$, we may conclude that Q(x) = Q'(x), for all $x \in X$. Thus such a *n*-dimensional quadratic mapping $Q: X \to Y$ is unique.

Theorem 3.5. Let $n \ge 4$, and let $f : X \to Y$ be an even mapping satisfying f(0) = 0 for which there exists a function $\phi : X^n \to [0, \infty)$ such that

$$\tilde{\phi}(x_1, \cdots, x_n) := \sum_{j=0}^{\infty} 4^j \phi(2^{-j} x_1, \cdots, 2^{-j} x_n) < \infty, \qquad (15)$$

$$\| Df(x_1, \cdots, x_n) \| \le \phi(x_1, \cdots, x_n), \qquad (16)$$

for all $x_1, \dots, x_n \in X$. Then there exists a unique n-dimensional quadratic mapping $Q: X \to Y$ such that

$$\| f(x) - Q(x) \| \le \frac{1}{4(m-1)} \tilde{\phi}(\underbrace{2x, -x, x, \cdots, x, -x}_{2m-terms}, 0, \cdots, 0), \quad (17)$$

for all $x \in X$, where $4 \le 2m \le n$.

Proof. If x is replaced by $\frac{1}{2}x$ (not 2x), then it follows from the proof of Theorem 3.4.

Corollary 3.6. Let $p \neq 2$ and θ be positive real numbers, let $n \geq 4$, and let $f: X \to Y$ be an even mapping satisfying f(0) = 0 and

$$\parallel Df(x_1,\cdots,x_n) \parallel \leq \theta \sum_{i=1}^n ||x_i||^p$$

for all $x_1, \dots, x_n \in X$. Then there exists a unique n-dimensional quadratic mapping $Q: X \to Y$ such that

$$|| f(x) - Q(x) || \le \frac{n}{m-1} \cdot \frac{\theta}{|4-2^p|} ||x||^p$$
,

for all $x \in X$, where $4 \le 2m \le n$.

Proof. Let

$$\phi(x_1,\cdots,x_n)=\theta\sum_{i=1}^n||x_i||^p,$$

and then apply to Theroem 3.4 when p < 2, or apply to Theroem 3.5 when p > 2.

Dong Seung Kang

Note that Theorem 3.4, Theorem 3.5 and Corollary 3.6 remain valid if $n \ge 4$ is either odd or even.

References

- J.-H. Bae and K.-W. Jun, On the generalized Hyers-Ulam-Rassias stability problem of a n-dimensional quadratic functional equation, J. Math. Anal. Appl. 258(2001), 183–193.
- [2] P. W. Cholewa, Remarks on the stability of functional equations, Aequationes. Math. 27 (1984), 76–86.
- [3] S. Czerwik, On the stability of the quadratic mapping in normed spaces, Abh. Math. Sem. Univ. Hamburg 62 (1992), 59–64.
- [4] P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184(1994), 431–436.
- [5] D. H. Hyers, On the stability of the linear equation, Proc. Nat. Acad. Sci. U.S.A. 27 (1941), 222–224.
- [6] Soon-Mo Jung, Quadratic functional Equations of Pexider Type, Internat. J. Math. Math. Sci. 24(5) (2000), 351–359.
- [7] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297–300.
- [8] Th. M. Rassias, On the stability of functional equations in Banach spaces, J. Math. Anal. Appl. 251 (2000), 264–284.
- Th. M. Rassias, P. Šemrl On the Hyers-Ulam stability of linear mappings, J. Math. Anal. Appl. 173 (1993), 325–338.
- [10] Th. M. Rassias, K. Shibata, Variational problem of some quadratic functions in complex analysis, J. Math. Anal. Appl. 228 (1998), 234–253.
- [11] Th. M. Rassias and J. Tabor, What is left of Hyers-Ulam stability, J. Natural Geometry 1 (1992), 65–69.
- [12] D. H. Hyers and Th. M. Rassias, Approximate homomorphisms, Aequ. Math. 44 (1992), 125–153.
- [13] D. H. Hyers, G. Isac and Th. M. Rassias, On the asymptoticity aspect of Hyers-Ulam stability of mappings, Pro. Ame. Math. Soc. 126 (1998),425–430.
- [14] Th. M. Rassias, On the stability of functional equations and a problem of Ulam, Acta App. Math. 62 (2000), 23–130.
- [15] F. Skof, Proprietà locali e approssimazione di operatori, Rend. Semin. Mat. Fis. Milano 53 (1983) 113–129.
- [16] S. M. Ulam, Problems in Morden MAthematics, Wiley, New York (1960).